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Topic:- General Knowledge

1) Which of the following is NOT a fundamental right as per the Indian Constitution? /

Frafafea & ¥ w19 a1 uRda 9fu™ & oguR e Aifte sifter =81 82
1. Right to Property / Ry &1 PR

2. Right to Freedom of Expression / Sl Bt WAl Bl HTDHR

3. Right to Equality / HAT &1 HTHR

4. Right to Life / S{ta-1 &l JHfTDHR

Correct Answer :-

« Right to Property / T 1 UBR

2) Who won the 2017 ICC Champions Trophy? / 2017 TSIt AfUd efw! feaa siidi?
1. Sri Lanka / Siciep1

2. Bangladesh / AT

3. Pakistan / UTfeb &=

4. India / HRd

Correct Answer :-

« Pakistan / UTfb &

3) Who founded Shantiniketan? / RS A B RITYT fHa 12
1. Rabindranath Tagore / = 1Y IR

2. Manabendra Nath Roy / A A 1Y

3. Raja Ram Mohan Roy / XTSI XTH mMea1g

4. Debendranath Tagore / 3% 1Y TR



Correct Answer :-

« Rabindranath Tagore / g 1Y R

4) Which day is celebrated on 21st June? /21 Gfraﬁ?ﬁqwﬁavnﬂmm%?
1. World Laughter Day / fay g faag

2. World Forestry Day / fay arfia! faad

3. World Yoga Day/ﬁ”a’tﬁﬂﬁaﬂ

4, World Cancer Day / fay HR feag

Correct Answer :-

« World Yoga Day/ﬁ”d?ﬂﬂﬁaﬂ

5) Which one of the following cities has become the first Indian city to offer 1Gbps
wired broadband internet service? / 18 & ¥ ®I9 9T T WX 11T IR gad
Sisds ge-ic |aT ¢ aTeT HYH HRTG ER §1?

1. Hyderabad / 8S31dTG
2. Pune /E[l'}f

3. Mumbai / 485
4. Delhi / et

Correct Answer :-

« Hyderabad / %aﬂala

6) Which one of the following places is famous for Chikankari work? | FRIeoT

W& R P iAo @ e ulrg 22
1. Patna / UcHTl

2. Lucknow / W13
3. Kolkata / ®IcbTdl

4. Jaipur / S[gYR

Correct Answer :-

o Lucknow / dW13



Which one of the following teams won the 10th Indian Premier League (IPL) trophy?

/e & 9 e ua 19 S 109 ST iftrr i (améiua) et sidie
1. Kolkata Knight Riders / CAREYR]) qI<C {I$S{-IC

2. Mumbai Indians / Haé sfedg

3. Gujarat Lions / 1[SIRTd SIRES|

4. Sunrisers Hyderabad / G RT3 8eR1aTG

Correct Answer :-

o Mumbai Indians / Ha_if 3%11?

8) Who is the Director General of the Central Reserve Police Force (CRPF)? | P

frord gfer s@ Rfismdivw) & weiex® $id 82
1. VK. Joshi / o1& Sl

2. Prakash Mishra / U1 H8

3. Dilip Trivedi / f&efia Brad

4, Rajiv Rai Bhatnagar / TSild T HeATR

Correct Answer :-

« Rajiv Rai Bhatnagar / JTStd XA HEATR

9) Who won the 1999 Cricket World Cup? / 1999 fopthe fay #u frg sitar?

1. England / 378
2. Australia / &ﬁiﬁﬁiﬂ

3. South Africa / SI&0T 3THIhT
4. India / HRd

Correct Answer :-

« Australia / &@%R:IT

10) The Sessa Orchid Sanctuary is located in which one of the following states? /

I Siifdhs srvaRva g & A fry v Isw A R 82
1. Arunachal Pradesh / 3r3UTId UG

2. Tamil Nadu / altlﬂ;ll§



3. Odisha / 3T
4. Karnataka /W

Correct Answer :-

« Arunachal Pradesh / WE@'&T

11) India recently signed twelve Memoranda of Understanding (MoU) and
Agreements in May 2017 with which one of the following countries / YRd A gTa g1 A

frafafaa 3= o @ fora =1 & A1y, 95 2017 $ IRE THST U (THSNY) TR §RATER
fepu?

1. China/zﬁ:[
2. France / B9
3. Italy / gadl

4, Germany ) T

Correct Answer :-

« Germany /S

12) India’s longest bridge “Dhola-Sadia Bridge” has built over which tributary of

the Brahmaputra River? / HRd & UaY @d Ud "eld-Afear Ya" &1 (i1 §g1ga Adt
ot fra ITd & SR far T 32

1. Subansiri River/ﬁﬁ'ﬂﬁlﬁﬁ
2. Manas River / AT a1
3. Lohit River / difgd -at

4. Kameng River / BT A

Correct Answer :-

. Lohit River / @ifgd !

13) Which one of the following sports is considered as state sport of Madhya Pradesh? /

Frafafag @l & A fFd TeaveRr &1 I [ JHT o141 82
1. Kabaddi / agl
2. Boxing/w

3. Malakhamb / AW

4. Wrestling / @Q?ﬂ



Correct Answer :-

« Malakhamb / TaRdq

14) Who built the Qutub Minar at Delhi? / ATl # $qa MR &1 fAwior fea= wamarn
1. Akbar / 3B

2. Khizr Khan /@\_ﬂ'“@ﬁ'

3. Shah Jahan / QTEwIg!

4. Qutbuddin Aibak / e UadH
Correct Answer :-

. Qutbuddin Aibak / g Uadh

15) Which one of the following cities is known as ‘Electronic City of India’? ReckE:kan
T X '"HIRA BT SeFE -1 XMEX’ & ATH I ST SATdT 82

1. Pune / ﬂﬁf

2. Noida / TTST

3. Hyderabad / ERIEI
4. Bangalore / IR

Correct Answer :-

« Bangalore / STAR

16) Which one of the following is the oldest monument? / 5 & & ST W1 Ta GRIT
WR® §?

1. Taj Mahal / dIsTHg <l
2. Ajanta Caves / 3{SIdT U
3. Amer Fort / 3THR fodlr

4. Mehrangarh Fort / HgRT-Tg fdoal

Correct Answer :-

. Ajanta Caves / 3Sidl T[tTU

Topic:- General Hindi



1) “faued IR TR A J @ S A1 a9t 32
1. fAy IR

2. TR A1

3. ag & a1

4. Yobd Jad A1

Correct Answer :-

. g YD AT

2) «3raT A AT ST AT ST § i A1 ared 82
1. HTgar

2. FHard

3. 3T A DI o1

4, HHATH

Correct Answer :-

3) «3fSHA H B AT AT §?
1. TSN I

2. 3T JHTH

3. FHYRT THY

4. fg 79U

Correct Answer :-

4) gri fim A g ad f=ard
AT € T AT & B A A & A ) 1H DI T PR B2

1. TUD HADBR

2. A=A DR
3. 2V ADR

4. G4g AAPR



Correct Answer :-

5) «“HdF” B Yo Y BT 19 ga15Q?
1. 9fg G

2. fawf 9y

3. o iy

4. 3{g1fe iy

Correct Answer :-

6) ‘g Yag A FAffa wsa @ |
1. 3B

2. D dRT

3. 3R

4. TS

Correct Answer :-

7) «p1 quf 5id PV G Herad ST A4 8 |
1. N1 ¥ UGS W G

2. g9 & 999 a1 g1

3. fagmar w1

4, TG S R Tgrar Ty B

Correct Answer :-

. Y Sidn R Yerdr Y B

8) STdl &I Ygigarl 8 |
1, 3HolT
2. 98



3. T
4.9 R

Correct Answer :-

9) fordt 3i&R A8l |
1. FRBR

2. &R

3. fffe

4. FRI®R

Correct Answer :-

. fReR

12) 3MYR HTfAdH e |




1. YR

2. FRIUR
3. 9IYR
4. TR

Correct Answer :-

13) 38 @ B9 dt e uror cafrai g2
1.3,9,%, Y

2. 1, ST, T, B

3. STH A DIS T8l

4.9,9,T,31

L2 R
Correct Answer :-

.« 9.9.¢, 81

NYORD0

14) frddd BTg ggoaf 3mad |
AT $& g & 31, fad yai¥e urad | F S AT 22

1. Q1A
2.8y
3. g XY
4. Yl 39

Correct Answer :-

o diHURY

Topic:- General English

1) Choose appropriate articles for the given sentence:

Petroleum Ministry has proposed increase of Re.1 per litre of petrol with effect from

midnight.

1. A an

2. An, the



3.Aa

4. The, an

Correct Answer :-
e The, an

2) Choose the appropriate preposition for the given sentence:

It is not really safe to drive down ______ unearthly hours.
1. across

2.1in

3.0n

4. during

Correct Answer :-
e during

3) Choose the word that is opposite in meaning to the word highlighted in the following sentence:

The leader of the religious sect does not deserve the adulation he receives.
1. applause

2. criticism

3. childishness

4. shameful

Correct Answer :-
e criticism

4) Choose the word that is closest in meaning to the word highlighted in the following sentence:

The drought will aggravate our food problems.
1. develop

2. ameliorate

3. worsen

4, control

Correct Answer :-



® worsen

5) Choose the option that correctly sequences the following phrases:

. he was very talkative
. but later

. on first acquaintance
. shy and modest

. he seemed

v B WN R

1. 12345
2.54321
3.35421

4. 23415

Correct Answer :-
e 35421

6) Choose the correct form of phrasal verb for the given sentence:

Why are people crowding around? What's ___ ?
1. happening up

2. going on

3. going off

4. getting up

Correct Answer :-

e goingon

7) Choose the correct form of tense for the given sentence

My father ____ George quite well; they were introduced to each other at a wedding.
1. had been recognizing

2. was recognizing

3. recognizes

4. is recognizing

Correct Answer :-

e recognizes



8) Choose the correct form of linker for the given sentence:

Though there was little evidence against him; _____, he was convicted.
1. besides

2. s0

3. yet

4, after

Correct Answer :-

9) Choose the most suitable determiner for the given sentence:

Isthere ___ buttermilk in the cooler?
1. little

2. much

3. any

4, few

Correct Answer :-

10) Choose the correct sentence from the sentences given below:
1. The child have received the punishment.

2. The child has receive the punishment.

3. The child received the punishment.

4. Child received the punishment.

Correct Answer :-
e The child received the punishment.

11) Choose the right tag

She hasn't come yet, ?
1. hasn't she

2. haven't she



3. doesn't she

4. has she

Correct Answer :-

e hasshe

12) Complete the sentence choosing the right option:

They could not help _______leave the car at the road side, where it had broken down.
1. unless

2. than

3. instead of

4, but

Correct Answer :-
e but

13) Complete the sentence choosing the right form of Prefix:

Peter let his soda sit so long that the fizz went out anditwas _______carbonated.
1. un
2. de
3.re

4, dis

Correct Answer :-
e de

14) Spot the error in the given sentence:

Irregardless of what you say, you will still be suspected.
1. noerror

2. Irregardless

3. of what you say

4. you will still be suspected.

Correct Answer :-



e Irregardless

Topic:- General Mathematics

1) Solve : | BT & :

2.2
3.9

4.5

Correct Answer :-

2)
Ifx= (g:]_EI + (;]_1=thenthevalue of x1=/ T x= {g]_ﬂ + (%]‘1 g, dl xl&r AT =

21

-
2.
Sk
G
CI®
4,

Correct Answer :-
i ER
C) E



3)
If 2x - —) =5 , then the value of 8x° - - = A (2x-)=58. dres -

— & A = el

1. 140

2. 165

3.98

4. 106

Correct Answer :-

« 140
4)
Simplify and express Ex 2—5 +% _Tﬂ - %X i as a rational number in the form of p/q. /p/q & ®T
# vdh oAy TE & w0 A 2x 24332 2kl Y W a wed
21
20
1.
13
12
2.
11
10
3.
9
16
4,

Correct Answer :-

5) Using Euler's formula find the number of faces if the vertices are 12 and edges are 30. /

gaR & G BT IUANT H3& F1d B3 b afe 2 12 3R fFAR 30 €, 9 waae fraq gt
1.20
2. 10

3. 15



4.25

Correct Answer :-

« 20

6) A boy scored 125 marks and 140 marks in the first test and the second test respectively. If
the maximum mark in each test is 150, then the percentage increase in his performance is

./ U TSP A UYH Tefor 3R fgeia udieror & A 125 3R 140 3i® Urd
ﬁ?&lu%u%h?uﬁ&mﬁarfﬁwaiﬁwo%,aﬁmmﬁgémq@
|

1. 5%

2. 15%
3.25%
4. 10%

Correct Answer :-

e 10%

7) State the degree of the following algebraic expression. / Frafefad Sy soe ot
T {1 DN

8)(3y6 -5 xsy2 - 5)(3y2
1.6
2.9
3.8

4.5

Correct Answer :-

8) Which one of the following is a factor of 625x% - 256x2? / FFafaf@a A A P 625x5 -
256x2 BT TP VTS 32

1.5x2 -4
2.5x+4

3.25x + 16



4,.25x - 16

Correct Answer :-

e 5x+4

9) If the diagonals of a rhombus are 24cm and 10cm, then the perimeter of the rhombus is

é/uﬁwmﬁﬁ%sﬁﬁﬁuﬁtﬂ&ﬁvmﬁtﬂ%,aﬁmﬂﬁmw
|

1. 48cm / 48 THI
2. 52cm / 52 9T
3. 40cm / 40 9
4. 56cm / 56 A

Correct Answer :-

. 52cm/521?ﬂ:ﬁ

10) If the coordinates of the centre and a point on the circle are C(3 , -4) and A(-2, 1)

respectively, then the radius of the circle ‘r’ = . tlﬁ TP qd P PG Td TP ﬁg
¥ fAderi®; AN C(3,-4)TF A2, 1) §, a‘r?ﬁraﬁﬁm“ » = g

5\,."5 cm [ ':‘1.,."5_9#

1.

, 23em [ 2438
3.3cm/ 3@1ﬂ

4. 6cm / 6@1ﬂ

Correct Answer :-
5\."’5 cm [ 5\."’5 AT

11) The area of a rhombus is 21cm?. If one of the diagonals is 6cm, then the other diagonal is

ﬁ@@%ﬁ%zﬁtﬁ%ﬁﬁﬁ@%ﬂﬁ%ﬁﬁ%ﬂf
!

1. 7cm/7@1ﬂ
2. 4cm/4@1ﬂ



3. 8cm / 8 THI

4. 9cm /9 THT

Correct Answer :-

. 7cm /7 O

12) Ifa = 4 and b = 3, then the value of aP + b? = ./dfta=4udb=3
g, Mal+b2 HTHM = 2l

1. 127

2. 145

3.137

4. 136

Correct Answer :-

e 145

13) Sides BC and CA of triangle ABC are produced in order, forming exterior angles ~ACD

and £BAE respectively. If ~ACD = 105% and 2ABC = 589, then ~BAE = | By
ABC &1 & YSIT¢ BC IUT CA SHHRI: IiISHIU .ACD and «BAE &1 fawfor =<t &1 afg 2AcD =

1059 Ug ~,ABC = 580 8, d ~BAE = gl
1. 1259

2. 1339

3. 1099

4.117°

Correct Answer :-

. 1330

14) The enrolment of a school during 5 consecutive years was as follows:

1490, 1840, 2100, 3600, 2520. The mean of the enrolment of the school for this period is
. | AR Ui" 99T & SR, U faenad &1 amie Furgar o

1490, 1840, 2100, 3600, 2520. 9 3fAf¥ & T fIenaa & AHIHT BT AT gl

1. 3220

2.2310



3.2140
4. 1980

Correct Answer :-

« 2310

Topic:- General Logical Ability

1) A bullet travels at 750 m/s. How long will it take to travel 1 km? / Y gﬁ'c’ 750 HRA R

T Sl o | 78 1 Fonelt A e & forg fvamin o et
1.1.33 secs / 1.33 9

2. 1.5secs /1.5

3. 14secs/ 149

4.12secs/ 129

Correct Answer :-

« 133secs/ 1339

2) In a certain language, fil wil til means tell them now; wil skel feil means now and then.
Which is the word for wil in that code language? / et @TT T ﬁ, fil wil til ®T Hdcld %
tell them now: wil skel feil &1 HAAd & now and then| 39 P18 HTUT H wild forg &1
1 W 82

1. tell
2. them
3. then

4. now

Correct Answer :-

3) Two numbers are in the ratio 3:5. If each number is increased by 10, the ratio becomes
5:7. The numbers are: / &Y H&ITI 3 : 5 & UG A B tr%u?awm 10 9P &I &I STt
2, df 3UTd 5 : 7 99 94T 8 | H=AY §:

1. 12,20

2.15,25



3.3,5
4. 18, 30

Correct Answer :-

e 15,25

4) Three different containers contain 130 /, 442 [ and 234 1 of milk, respectively. What biggest
measure can be used to measure all the containers exactly? / o= fafirs urs & wa=r: 130
&l 442 3R 234 ot ger 81 @t At #1 31 @ grg F forg wiT & waw 78 719 FT
UGN 147 T FHeT 57

1.131/13 <l
2.171 /17
3.111 /11l
4.261 /267

Correct Answer :-

. 261 /2670

5) In the English alphabet series, how many consonants are there between the second and

the last vowel? / 3iUST 3&R §Ea H, g 3R Sifaw WR & dHa | fa o= 82
1. 18
2.16
3.21

4. 13

Correct Answer :-

6) If 18 men can finish a job in 26 days, then, in how many days will 13 men finish the same
job? / Tfe 18 3MEH TP BT B 26 fE A AT B FPHd €, 0, 13 3MeH IH Hrd BY
fra et & wwrea &8

1. 22 days / 22 fad

2.36 days / 36 fa

3.25 days / 25 T

4.19 days / 19 fa



Correct Answer :-

. 36 days /36 fe

7) A room in a house measures 5 m in height and its length is 3 times its breadth. The cost of
whitewashing its four walls at Rs. 2.50 per sq m is Rs. 200. What is the cost of carpeting the

floor at Rs. 5 per sq m? / TR H U HHI, HaTs A 5 W § 3 IUSP! &1, SHB! ASTS Bt
3 AT 81 B! IR EaRIS TR YdTg H DI AT 2.50 ¥ Ufd 97 1t & fgama 4 200 &
21 5 % yfaa! Mt & feare | 99 R & fasm &) @ w82

1.Rs. 84 /84 %
2.Rs. 60/60
3.Rs. 72/ 72%
4.Rs. 50/50 %

Correct Answer :-

« Rs. 60/60%

8) If a batsman scored 120 runs which included 9 boundaries and 3 sixes, then what percent
of his total score did he make by running between the wickets? /afe Udh CRCIEERECIEY
3R 3 S FUAdR 120 T F1C, @t I fawel & dHa SsHR U Fo THR P fHa-T
yfersra ST

1. 48%
2. 50%
3.52%

4.55%

Correct Answer :-

e 55%

9) Gullu walked 18 meters to the south, and then walked 25 meters to the west, then 28
meters to the east. Which direction is he facing now? / I[¢t], Sfaror 3 3R 18 Hiex =, 3R
iR uf¥m &t 3R 25 Hew Tan, e qd ot 31T 28 Wex | IHST 4@ 3@ 9 A fe=mm a2

1. West/tl'f%m
2. North / 3R

3. South / GI&T0T

4. East/ 11‘q$



Correct Answer :-

. East/tfllc

10) Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / F14 {30 TR TR vl & A &9 A1 T 1 33 1 ud & vpeH IHHEH A1 82

Private Bag X86,
Halfway House,
Number-1685,

S. Africa

i. Private Bag X86,
Halfway House,
Number-1885,

S. Africa

ii. Private Bag X86,
Halfway House,
Number-1685,

S. Africa

iii. Private Bag X86,
Halfway House,
Number-1685,

S. Africa

iv. Private Bag X86,
Halfway House,
Number-1685,

S. Africa

1. 111

11) The sum of the ages of a father and son is 45 years. Five years ago, the product of their
ages was 34. The present ages of father and son are , respectively. / Y fUar siv e
DI 3T BT AN 45 9 g | UTT T9 Yd, STTD! 3R BT UGS 34 AT| far v 92 3t
AU 3T SHHTT: gl



1.40 and 5/ 40 3{R 5
2.38and 7/38 3R 7
3.39 and 6 /39 3R 6
4.36and 9/36 3R 9

Correct Answer :-

.« 39and 6/39 3R 6

12) The series given below contains a sequence of numbers. Identify the incorrect

combination. / 12 & 7TE gEd # U W A TE@ITY IUFRG & TTard HaIe Ugarg|

2, 15,41, 80, 134
1. 41

2. 134

3. 80

4. 15

Correct Answer :-

. 134

13) What is the value of y in 2x+y = 29, 2y+z = 34 and 2z+x = 15? / 2x+y = 29, 2y+z = 34 3R
22+x =15 y'BT T HH 82

1.3
2.4
3.7

4. 15

Correct Answer :-

14) If BOLSTER is coded ANKRSDQ, then how is ANKDSRQ coded? / '!T% BOLSTER ﬂﬁ'

ANKRSDQ Q SIf&a forar 5irar 8, @ ANKDSRQ ) 9 ifsd far s
1. BOLETRS
2. ZMILRQP
3. ZMJCRQP



4. OLBTRES

Correct Answer :-
« ZMJCRQP

Topic:- General Science

1) Uneven heating of land during winter generates winds from colder northwestern areas.
These bring rainfall to Tamil Nadu, parts of Andhra, etc. These are the

T & SR YA BT 3=HH a1, ﬁwmaﬁﬁmmmélﬁ
afrerTg, oy & o fewai A aut @it €1 3 gl

1. advancing monsoon / dedl §3T HITY

2. southwest monsoon / GI&0T Gf&H YA
3. retreating monsoon / fAdat HIAYA

4. none of the above / 37“?[ I aﬂ‘s‘ :I?)[

Correct Answer :-

« retreating monsoon / fAdat HIAYA

2) Warm blooded animals are those which ./ THRa urofy dg i-'-ﬁ' %
I

1. have cold blood in them / FFH SrIHATT BT 8
2. have warm blood in them / TSTH TTH J&d @?IT %I
3. change body temperature with the surrounding / S ORAY o 1Y IRR & dIHH P dadd %I

4. maintain constant body temperature / ST FROR TR &1 agET= J-IJ G4 %I

Correct Answer :-

« maintain constant body temperature / S FROR TIRR 7 aruEm= CRILY G %I
3) Identify the precipitation reaction. / 3rqarqur Sfferar &t ygard &1 |
1. Hydrogen + oxygen — water / 6|3§;|\_r|'_'| + RS — STd

2. Sodium + chlorine — sodium chloride / ST FARM — JifgTd a?h?'lg_s'

3. Sodium chloride + silver nitrate —ssilver chloride + sodium nitrate / TTSTH dﬂ\lilis + R

A5¢c— RicdR RIRSS + GIfgTH A1gce




4. Calcium carbonate — calcium oxide + carbon dioxide / %%IPCIT[ Wﬁﬁ? — m’q

TS E + BIa SEHTRSS

Correct Answer :-

« Sodium chloride + silver nitrate —ssilver chloride + sodium nitrate / TSTH dﬂ\lilis + R

Ag¢c— iR wIR1SS + AfSTH Agee

4) Reflector in the headlight of automobiles is an example of . / Hex-arg-l

& SUEY (FSATEC) H WIad® $13GIEU 3|
1. concave mirror / 3ddd E'TfUT

2. convex mirror / 3T GUUT
3. spherical mirror / AR GUur
4. plane mirror / JHJT gyur

Correct Answer :-

« concave mirror / 3ddd E'CfUT

5) The depletion of water table is due to ./ oI AR hT A& &

SRV GBI

1. increased grazing / ?ITI_QC o Q@

2. increasing rainfall / EIET‘?[ E_S; SR
3. scanty rainfall / 3¢ gyt

4. soil erosion / Hal UG

Correct Answer :-

« scanty rainfall / 37cd To

6) The paws of a polar bear are flat and broad. This is an adaptation which helps the polar

bear to ./ AT T & Ul Tue 3R It i & | I8 TP P & ol Ydia
T B A Heg HRaT 2|

1. walk on ice / §F TR I

2. survive the cold climate / 8 AIH I &9 LGl

3. protect itself from predators / ¥9Y D RG] I &1 HRA
4, swimming / ARTD!

Correct Answer :-



« walk on ice / I R Ia

7) Which one of the following irrigation methods is useful for sandy soil? / ﬁ'ﬁ'l%l'@?l ﬁﬁl’l’s‘

Rt & & Yeiteht gt 3 Rore 1.2 Ry S 22
1. Basin irrigation / aﬁﬂﬁ-m

2. Sprinkler system of irrigation / ﬁﬁﬂg Gl W[a ggfd
3. Canal irrigation / IgX @la'l?zc

4. Furrow irrigation / % ﬁﬁﬂé

Correct Answer :-

« Sprinkler system of irrigation / ﬁﬁﬂ% Gl R96_0h|0| AT

8) Thin wires of which of the following metal is used for making the filament of electric
bulbs? / fasTelt & gedl &1 fhare g9 & o =1 urgen & 9 frd u1g & vae ari &1
SUGRT fasa iTaT 32

1. Tungsten / CTRC
2. Silver / Afal

3. Nichrome / fsh1H
4. Copper / didT

Correct Answer :-

« Tungsten/ GRISE

9) In animals like sponges and hydra, transport of food and oxygen is done by .
/ e 3R BT ST o U &, Hier 3 siferfrer &1 uftag ¥ grIfHar
Srar gl

1. plasma only / % Faa wrea

2. both blood and plasma / Xdd 3R TS aHl
3. water only / 4 Faa =
4. blood only /% Had Iad

Correct Answer :-

« water only / s aa urt



Rhizobium (bacteria) which fixes atmospheric nitrogen is found in nodules growing in

./ TESifaad (i) sife argreda g @) Fufivd $a €
H et et & e o g

1. roots of leguminous plants /Wﬂ?l?tﬁ‘ihﬁ\_ﬂ@

2. fruits of the leguminous plants /Wﬂﬂ?ﬁﬁ%qﬁﬁ
3. stem of Leguminous plants / FelleR Utel & a=

4. leaves of leguminous pIants/Wﬂﬂ?ﬁﬁﬁW

Correct Answer :-

« roots of leguminous plants /Wﬁ%ﬁﬁﬁ

11) In the retina of the eye, the area having no sensory cells is called / 3T PY

YR E, 78 87 Tt P T BT T B, I TETI
1. dark spot/mﬁ@

2. blind spot / C’rﬁlﬁ_g'
3. cornea /@Tﬁﬁﬂ

4. iris / 3SR

Correct Answer :-

« blind spot / Hﬂﬁ’g’

12) During a clear night sky, bright light streaks are often visible. They are called shooting stars.
They are actually ./ G TE A & IR, SRR TP H S&adl YT
Tt faars &t 31 56 gedT gl aRT Hel 9Iidl 81 4 Iad | GOk

1. comet/w

2. planet / Ug
3. falling stars / fRd E’Q?‘lﬁ

4. meteors / 3ol

Correct Answer :-

« meteors / 3eh]

13) To and fro, or back and forth motion of an object is known as: / folt T\‘ﬁ%'&'ﬂ?—3ﬂ? qr
M-S F 7fa HY 59 719 A ST W17 8-

1. Time period / JHY 3afy



2. Vibration / U

3. Frequency / GHQ'%

4, Amplitude / 3ATITH

Correct Answer :-

« Vibration / HUd

14) Nucleus of a cell is filled with a semi-solid substance called . /waﬁﬁmr DI

TP TP 3F-319 Uard | wRT g 7, ford FETAET R
1. nucleoplasm / HEHEH

2. cytoplasm / DIRBIGH

3. plasma / TITH

4. protoplasm / SaGST

Correct Answer :-

« nucleoplasm / GGt

Topic:- General Computer

1) Which device is required for the Internet connection? / P AT YD (%ars'q) E’Eﬁ?
PR & T smaxgs 72

1. NIC Card / TH384! (Fe) &1
2. Joystick / SITRCH

3. CD Drive / U181 g18d

4. Modem / ATSH

Correct Answer :-

e Modem / AlsH

2) Which corner of the Word window has the zoom control? / T8 {38l & BT A B | S[H aﬂ-']?[
T e?

1. Upper-left / W—ET&
2. Lower-right / :ﬂ%[-a'lﬁ
3. Lower-left / ST2-aTq

4, Upper-right / HWR-a



Correct Answer :-

o Lower-right / :ﬂ%r-aﬁ

3) Which feature do you use to create a newspaper like document? / ﬁ'ﬂ{ﬁ? P e TP MEAR DI
T & Y 31y for BieR &1 W $3d &2

1. Bullets & numbering / W 3R Fafer
2. Tab stops /T T
3. Tables / <8

4. Columns / BIAH

Correct Answer :-

e Columns / BIAH

4) What do you call “a collection of character and paragraph formatting commands’? / ‘PIFeR MR

WRTUTE BIHTET SN & TG BT FIT Hed o2
1. A template / Uh [
2. A boilerplate / T SIgARWIC

3. A style / Uch ICIgdl
4. The defaults / fSWhice

Correct Answer :-

o A style /Udb I

5) A computer program that converts an entire program into machine language is called

a/an . / 98 ST WIITH Sl T Jgul THmT &t =i ymar & ufiafda swar g,
L Hgarargl

1. Simulator / GIWRQT (@I’lﬂa??)

2. Commander / PHISR

3. Compiler / hdD (HHTFAR)

4. Interpreter / HTITORPR (SeR(UC)

Correct Answer :-

« Compiler / Hhdb (HHIZR)

6) NOS stands for: / NOS BT Euf??q%
1. Node operating system / s 31VCI§ ¢ Rieeyq



2. Network operating system / dead SR Ren
3. Non-open software / -39 iredaR
4. Non-operating software / - HTRIET AitedaR

Correct Answer :-

» Network operating system / Jegd SHTRfET ey

7) To insert slide numbers: / ¥I§S EEnIkeal ET\‘T(.; PSP ﬁI'G:
1. Choose Insert >> Slide Number / ET\EI_Cﬁ ﬁ >> TR S R

2. Insert a new text box and select Insert >> slide Number / Th U CRE didT DI iwi-lé P od ET\qé ﬁ
>> TAZS R Bl Jdlae B

3. Insert a text box and select Insert >> Page Number / U CRE I B i'w{-lcr P g 37\‘4_3 ﬂef>> Ul
GRS

4. Insert a textbox and select Insert >> Number >> PageNumber / Uch TRE diqT DI ET\EIT:c P ] 37\‘:I_CC
T >> AR >> TS FeR

Correct Answer :-

« Insert a new text box and select Insert >> slide Number / Tdh U CRE didT DI C\SfQ-ICr P Td 378?? ﬂef
>> WZS AR Pl Yalde B

8) Which is the best view for getting your thoughts for a MS-PowerPoint presentation out on the
computer? / THUH-WTEE USRI & 1T 31u= fari &t dugex R @M & i a9 o1 g i
|e?

1. Outline view / A3 g
2. Notes page view / :ﬁfﬂa\_ﬂ =28

3. Slide view / &g S
4. Slide sorter view / T3S WX 2%

Correct Answer :-

e Outline view / T3l

9) In Excel, you can group non-contiguous worksheets with i Qﬂ'\qﬁ ﬁ,

3TY GRRIT (ATABI< ReU™) gbRite &l g & GRTIGfed X APA & |
1. The ctrl key and mouse / W@ﬁa’ﬁ 3R A3

2. The shift key and the mouse / e ®Y 3R 1rey

3. The alt+enter key / 3Tce+Uex Gl

4. The group button on the standard toolbar / wes SNEIR & du dc



Correct Answer :-

e The ctrl key and mouse / ﬁh?f HI AR AT

10) In Excel, what term describes a background that appears as a grainy, non-smooth surface? /

TRTA |, DI T X165 TGRS, SRTATH [T+ aTd SIS S Ht uR Ui Ha13?
1.Pattern/a—cr:f
2. Texture / CHITR

3. Gradient / ’BI 3@ c
4. Solid / I8

Correct Answer :-

e Gradient/ ’BI 3@ c

11) In Excel, Rounding errors can occur v Qﬂ'\‘lﬁﬁ, wﬁaﬁms‘rm%

1. because Excel uses hidden decimal places in computation / Fi{d> TeRe, 0T H {50 gl aHdd Rf!
BT UGN HRAT 3|

2. when you show the results of formulas with different decimal places than the calculated results / SId 34

IHd! & YRUMH! BI TT0MT fhT T UM &t o # fi= Sxmad RIFl & 1Y S=id & |

3. when you use multiplication, division or exponentiation in a formula / SIel 3{TU U U'T\IJ%T | 0T,
faHTST a1 BTdie BT FUTNT B B |

4. when you use addition and subtraction in a formula / T8 30 Teh e & SIS 3R G P ITART
IRAE|
Correct Answer :-

» when you use multiplication, division or exponentiation in a formula / 9§ U Udh q’ﬁ% | UT,
fIUTSH a1 9Tdic &1 IUAN I ¢ |

12) which of the following will NOT advance the slides in a slide show view? / ﬁl’H 'ef ﬁ ﬁq

TIATSS T o | WS S1 B 3F A8 T
1. The space bar / WY dR

2. The mouse button / HI3Y &cq

3. The enter key / TR P

4. The esc key / esc Gl

Correct Answer :-

e The esc key / esc Gl



13) Which of the following is NOT on Home ribbon in MS-Word 2007? / A9 # ¥ &9 TATg-T8

2007 & g1H Ra WX 78T gian 32
1. Font color / B X7

2. Change Style / ¥}ISd dad-l

3. Font/ B

4. Columns / PTIAH

Correct Answer :-

e Columns / BIAH

14) In MS Word 2007, you can open the Highlight Changes dialog box by choosing Track
Changes from the Menu. / THUH T8 2007 ff 3 ﬁ‘q\ﬁ E'EF Ao HTIUT
FTF FEATST A9 ST ST @ TF B

1. Page layout / U TI3M3C

2. View /

3. Insert / 37\E|é
4. Review / ﬁH;L

Correct Answer :-

» Review / ﬁﬁl

Topic:- Electrical/Electrical and Electronics Engineering

1)
The diagram below 1s an example of system on ladder diagram. / 9o R I 310@
™ YUl T 3G160TR |

Topurh Irpa® ﬁ”;r

1

1. NOT gate / NOT 7€
2. NAND gate/ NAND 7€
3. AND gate / AND 7€

4. OR gate / OR T



Correct Answer :-

« AND gate / AND e

A SCRis connected in series with a 0.5 Hinductor and 20 © resistance. A 100V DC voltage is applied to
this circuit. If the latching current of the SCR is 4 mA, the minimum width of the gate trigger pulse

required to proper tum-on the SCRis: /U SCR 0.5 HUW{H A 20 ufader & ary Ao & gaifaas |
S6 99w # 100V DC dieest e [har Sidr 1 4fe SCR $hrelfarari4 mA §dl SCR &I 3RTET
A& HLa & felv de RiEses Tag I Hraeas dissh

1. 20usec/ 20u@'civ_6'
2. 50psec / 50pTHS
3. 40psec / 40pHDHS

4. 10psec/ 10u“\qﬁi°_€§

Correct Answer :-
e 20usec/ ZOuQﬁE

3)
Implement the following Boolean function with NAND-NAND logic. /f NAND-NAND GEIED

o ferre ol gferdet Hefel sl TRuTere |

(Y =) AC+ABC+ABC+AB+D

-y



O =G p

%P?
=

g By
c

n?

5

D
3.

4. None of the above / dLN\IOK'I oy qﬁéﬂ%’r

Correct Answer :-

4)
The current between the nodes A and B in the given circuit is: / TeU T OO # 3 AR

Ba?EfIH‘f“—THT%:

1. 1.006A

2. 1A

3. 1.6A

4. 0.06A

Correct Answer :-

« 1.6A



In a GTO, anode current begins to fall when gate current GTO ¥, §d T YRT

_ Je T YR IR @t R

1. is negative peak at time t=0 / HIt=0 R HBUTHS RRR

2. is negative peak at t = storage period ts / t R BUTHS R % = ﬂ";l_s' Al ts %

3. is negative peak at t = (ts + fall time) / THY t = (ts + fall time) WWW%

4, just begins to become negative att=0/t =0 UX BUHD 5l Y= Eﬁ?‘ﬁ%

Correct Answer :-

« is negative peak at t = storage period ts / t UX BUNHD RRER % = ﬂ";l_s' 3afd ts %

6) An encoder has input lines output lines. / Thasd A fafafy
Yar IEUCESCI G A

7) Electrically graded aluminum has a purity of . /ﬁgqamﬁwqqd’lﬁwaﬂ
Tgsar__ 3l

1. 98%
2.99.5%
3.93.9%

4.97.5%

Correct Answer :-
e 99.5%

8) Electrode used for welding aluminum alloys is copper. /Q?glﬂﬁ‘qtrﬁrar UTd
& dee & fore ygad sagls PRI

1. tungsten / GRS
2. chromium /ﬁ'&lﬂﬂ




3. cadmium / $SHTH
4. hard drawn /8T8 Sl

Correct Answer :-

« hard drawn / 61‘5‘31?

9) Name the instrument used for waveform analysis, signal frequency measurement and
peak to peak voltage measurement. / 3 SUDBUT hT HTH ddl¥ ora®T ST TR =y
faaivr, Tara smgfer ATu= Sk e | RRER e Au= & e fearsmar 81

1. CRO / TI3MRaf
2. Voltmeter / lecHier
3. Megger / R

4. Multimeter / EIETITfﬁ

Correct Answer :-

. CRO /Ht3mRaft

10) Name the tool which is used to measure the current in any electronic circuit. / 3

gwmwmﬁwmﬂwmuﬁwﬁ YRT 1 /19 | fHar S
|

1. DSO / Siug3ft
2. Ammeter / Q'”:chﬁ

3. CRO / TY3Rafl
4, Voltmeter / lecardt

Correct Answer :-

o Ammeter / Q‘lIﬂ'Cﬁ

11) Give an example of active electronic component. / WWWWW
LU

1. Transistor / E\T%IW

2. Resistor / PIGREED

3. Diode / IR

4. Capacitor / JUTRA



Correct Answer :-

e Transistor / ETI\lrlE_\"

12) In a Colpitts oscillator, C;=C,=C and L=100pH. The frequency of oscillation is 500KHz.
Calculate C. / PIAUIE G H C,=C,=C 3R L=100pH & | TIe BT MR 500KHz Bl C
ST URBAT PN |

1. 0.002pf
2.2 uf
3.0.02 pf

4. 0.2 pf

Correct Answer :-

13) A crystal oscillator generates electrical oscillation of constant frequency based on the

effect. / fopeea qifer & YUTT IR muTia fRR emgfi & fagadia
I B S HRaT B |

1. ultrasonic / URIHY
2. magnetic / W

3. piezoelectric / GTd fagad
4. photoelectric / UbTRI fdgad

Correct Answer :-

« piezoelectric / a‘q’ﬁ‘ggqﬁ

14) For a Bridge rectifier circuit, the secondary voltage is given by V=50sinwt and the load
resistance is R; =800Q. Calculate the rectification efficiency. / ﬁﬂw iy & fere
fadia® aieeT v =50sinot RT 31 41 8 3R YR ufeRiY R, =800 B | TRR=ITeA g&rdr &1
IR B

1. 81.2%

2.46%

3.18.2%

4. 40.6%

Correct Answer :-



15) Identify the 4-bit microprocessor from the following list. / 19 '\"ﬁﬂ A afoe

HISHIVINR 1 Uga™ HI |
1. Intel 8085 / ST 8085
2. Intel 4010 / $CT 4010
3. Intel 4004 / ST 4004

4. Intel 8086 / S 8086

Correct Answer :-

« Intel 4004 / ¢ 4004

16) In sequential circuits, signals can affect the memory elements only at discrete

instants of time. / Wqﬁq%ﬁ H, Hhd had 3Tdd &wﬁwmﬁraa‘rﬁ
THIRIT SR AP & |

1. synchronous / g?qwi%ﬁ

2. asynchronous / &WW
3. combinational / Tgrelt

4. none of the above / dLR\IOK‘I ﬁﬁ Ob\lig:lﬁ

Correct Answer :-

« synchronous / Wm

17) In 555 astable multivibrator, R,= 22k, R,=39K and C=0.01pf. Calculate the width of the
positive pulse. / 555 TTATeTd TgHIUT A R,= 22k, R,=39K 3fX C=0.01pf 8 | UFTHP T Bt
qrSTs BT URBAT P |

1. 0.423ps
2.0.423ns
3.0.423s

4. 0.423ms

Correct Answer :-

e 0.423ms



18) Determine fy,,, for the 4-bit synchronous counter, if t pd for each flipflop is SOns and ty4

for each AND gate is 20ns. /uﬁmmw%mt pd 50ns G?R'WAND ﬁi'a?
g 20ns B, @ 4- mwmwm%%quaxﬁmﬁml

1. 1.43MHz
2.0.143MHz
3. 143MHz
4. 14.3MHz

Correct Answer :-

« 143MHz

19) Butt welding requires a voltage that ranges from . /qgsac—s-—raﬁa’lévraﬂ
ATTLIHT gielt § il WREA AT

1.2t08V/298V
2.8t016V/89 16V
3.16t024V /16T 24V
4.24t032V /24T 32V

Correct Answer :-

« 2t08V/2T8V

20) An 8-bit DAC has resolution of 20mV/LSB. Find V| if the input is (10000000),. / T 8-

fde pAC &1 fam=T 20mv/LSB 81 Tf (10000000), FAfAfD B 4t v, FTa FifmE
1.256 V
2. 2560V
3.2.56V

4.25.6V

Correct Answer :-

« 256V
21) In the triggering, the output responds to the changes in the input only at the
positive edge of the clock pulse at clock input. / E’Tﬂ'ﬁ Fqd Pldq ﬁﬁ'@'tﬁr

HTE W P YIS SR T Frfa, AR & gu uRad= # ufifpar ar 2



1. negative edge / BUTHD BHR
2. negative level / BUNHD TR
3. positive edge / YTHD PR
4, positive level / YdTHD TR

Correct Answer :-

« positive edge / YTHD PR

22) Each NIC card is assigned a unique that is burned into / W@m

o1 B st R RraTTm s R Ao Rear W 3|
1. MAC address, RAM / MAC T84, RAM

2. MAC address, ROM / MAC Tgd, ROM

3. IP address, ROM / IP Qéﬂ, ROM

4. IP address, RAM / IP Ugd, RAM

Correct Answer :-

« MAC address, ROM / MAC U39, ROM

23) At the output, the content of A is: / fafad A&t ﬁm %:
MOV A#33H

ORL A #01H

ANL A #10H

1. 0001 0000

2.0011 0010

3.0011 0011

4. 0011 0011

Correct Answer :-

« 0001 0000

24) Take a glass rod, rub it with silk and hang it from a long silk thread. Take another glass
rod, rub with silk and hold it near the rubbed end of the first rod. What happens to the rods?
/ T HTd B TS |, I YW P 1Y WIS 3R TS I & YT A dehid | Th 39 Hid It 8
I Y & 1Y TS 3R I Uge B8 & WS 5T RR F U 7& | TSI & 1Y FT gl 82



1. They repel each other. /éwgﬂiaﬁmaﬂ?ﬁ%l
2. They attract each other. /%rqaﬁga%ﬁ KGR W?ﬂ%"l

3. They obey the inverse square law. / G b H it o & ure Rt ] |
4. They fall down. /3 TR STl §

Correct Answer :-

« They repel each other. /QW@%@WW%I

25) When both the inputs of a latch are high, output is unpredictable. What is this condition

called? / ST o &1 g1 Ffafdai 3= g, aa frfa sraearfrd giar 21 59 fufa & =
T SITdI 82

1. Bistable /%@Iﬁf

2. Indeterminate / 3=Id

3. Inactive / fafspg

4, No change /ﬁétﬁiﬂ?ﬁﬂ%’r

Correct Answer :-

« Indeterminate / 3T=Id

26) A is a register capable of counting the number of clock pulse arriving at its

clock input. / TS Uoil 8 I 39@ ! prae AR W frmd wrerg wie &1 ww=mn
PIUATH T B

1. register / gt
2. adders / qIoH
3. counter / IYE]
4. latch /a?[

Correct Answer :-

« counter / o

27) A is a multiple-input, multiple-output logic circuit which converts coded
inputs into coded outputs, where the input and output code are different. / Udh dg

ffaf®, g frfa o uivuy 3 <) wifsa Al & wifsa fefa o ufvafda a1 g, sef
fafafy sk Prfa sie A e 81

1. decoder / IGREGED



2. demultiplexer / ng'de ERIEE

3. multiplexer / EIEW
4. encoder / REAGE

Correct Answer :-

e decoder / IGREED

28) How much of energy is required for refining gold? / 1< T UFSHUT H & fore frait
Sl B ATALIDH AT §Iil 32

1. 300 to 350 kWh/ton / 300 ¥ 350 kWh/ton
2. 250 to 350 kWh/ton / 250 ¥ 350 kWh/ton
3. 100 to 150 kWh/ton / 100 & 150 kWh/ton
4. 400 to 550 kWh/ton / 400 ¥ 550 kWh/ton

Correct Answer :-

« 300 to 350 kWh/ton / 300 ¥ 350 kWh/ton

29) How many times will the loop get executed in the following program? / IBERIVID ﬁqcr

a1t TR femfea gime
MOV CX, 05H

MOV AL,01H

BACK: ADD AL,AL
LOOP BACK

1.50

2. 10

3.05

4,01

Correct Answer :-

30) Which layer in the OSI model provides the data transfer in the form of frames across the

transmission link? / OSI ufaeu A S ) =R e & TU & YR i 1 3R STeT
RITHARYT Y& $Xal 32



1. Data link layer / SICI fef IRa
2. Physical layer / %W

3. Network layer / Jede IRd

4, Session layer / HA UXd

Correct Answer :-

« Data link layer / SICI fois IR

31) Which instrument is used to measure the temperature above 1600°C? / 1600°C AR

a9 & 719 & g e Sua~ur 3t srazasar gidl 2
1. Ammeter / Q'JIITd)f

2. Thermometer / RIEIL]

3. Thermo-electric pyrometer /Tﬂq-agqﬁ CRIEIE]

4. Galvanometer / YIRTHTT

Correct Answer :-

o Thermo-electric pyrometer / am-égqa IAgATd

32) Which one of the following materials is likely to exhibit more conductive properties than

insulating properties? / e ad e uerd o ﬁ'g’q'cr Aeh '{[Wﬂﬁ ¥ 3iftre e '{[Wﬂﬁ
TefRid B B HUTET 32

1. Rubber /XdS
2. Wet skin/‘“E‘“aﬂT

3. Plastic / YA
4. Glass / =

Correct Answer :-

o Wet skin/‘“?ﬂ oddl

33) If the registers have both shifts and parallel load capabilities, they are referred as

./ afe uforai & T i fIeToeT SfR TR YR a1 § @ S
& wU H HefHd fear srar g1

1. universal shift registers / B ICARIEA R PR RV |

2. unidirectional shift registers / Qm'q foruTo= ot




3. sequential registers / Wm goft
4. bidirectional shift registers/ fgfa=fa forima= dsft

Correct Answer :-

« universal shift registers / i foRITo= Uit

34) The minimized sum of products expression for f(a,b,c,d) = Xm(0,1,5,6,7,8,9) with don’t
care Em(10,11,12,13,14,15) is ./ f(a,b,e,d) = Zm(0,1,5,6,7,8,9) & for€ U uqi
BT AT T, St 6 £m(10,11,12,13,14,15) TR & feu far gy aoan g, g

. f(abcd)=bc+bd +bc

, fl:a__b=c=d]=b_c +bd+bec

; f(ab.c.d)=bc +bd+bc

. f(ab.c.d)=bc+bd+bc

Correct Answer :-

f(ab.c.d)=bc +bd+bc

35) The IC can be used as 1 to 16 demultiplexer. / IC P19 16
JgHBaP & ©U H UgHd fHar S Iahar g |

1. 74X151

2. 74X153

3. 74X152

4, 74X154

Correct Answer :-
e 74X154

36) The effect of negative feedback is to increase the of a series voltage negative
feedback amplifier by a factor of (1+Ap). / Wuﬁg@mumﬂ (1+AB) & Uh PRP

gRT Juft A Bundrs ufayfy yasdfs # Hgfg FeAT B
1. voltage gain / glecs ATH
2. output impedance / foefa ufcaren



3. input impedance / AT Tfcraren
4. bandwidth / S B ASTS

Correct Answer :-

« input impedance / Ffa® Ufdaren

37) The refractive index of ionosphere layer is: / STITHS A Ud Bl RN CEREIC % -

1. V(1+(81N/f2))
2. V(1+(81N/D))

3. V(1-(8IN/f))
4. N(1-(81N/f2))

Correct Answer :-

« V(1-(8IN/f2))

38) The three types of PLC timer that are normally used are Delay-OFF, a Delay-ON and

./ TR TR IYURT fHT M 91 PLC AHGTH S & oIF UHR- Delay-OFF, a
Delay-ON 3R %|

1. TTL / 3leud

2. Delay-ON-Retentive

3. None of the above /Wﬁ@fﬁ'ﬁcﬁ
4. RTL / 31|Qé|QE|

Correct Answer :-
« Delay-ON-Retentive

39) The number of quantization level is 16 and maximum signal frequency is 4kHz in the
PCM system. Find the bit transmission rate. / PCM TUTTelt § THTHIHRUT TR &1 TS 16 %
3R Sftremaw Tddd SMgRT 4kHz B | e TTRUT o3 J1d B

1. 64kbs
2. 16kbs
3. 32Mbs

4. 32kbs

Correct Answer :-



e 16kbs

40) The condition for symmetric property of ABCD parameter of two port network is: / ?ﬁ

UI¢ Aead & TaRIIS! wraa & wHiid qoredd & g 2 §:
1.C-B

2.B=D

3. A=D

4. A=B

Correct Answer :-

« A=D

41) The condition for periodicity of continuous time signal is: / RO 99y dohd® &t

rafedar & fore ufasu :
1. X(t)=x(t+T)

2. x(t)= 1/(x(t-Tp))

3. x(t) = x(t-Tp)

4. x(t) = 1/(x(t+T))
Correct Answer :-

o X(t)=x(t+Ty)

42) The condition for 8086 microprocessor to work as multiprocessor system is: /

AINER RIeH & =0 § &1 o34 & oY 8086 ATSH IR &1 fRATA 8

1 MO is high / MTO 3= &

MO is low / MIO e &
2.

; MN/MX is low / MN/MX fre=Td

. MN/MX is high / MN/MX 3=97¢

Correct Answer :-

MN/MX is low / MN/MX foye=Td



43) The efficiency of rectification of a full wave rectifier is: / qﬁmﬁgﬁaﬁvﬂvﬁuﬁ
Q&I e:

1. n=8/11
2. = 8/112
3.1= 4/112
4. = 4/11

Correct Answer :-

. n=8/11%
44) The 74xx157 is a which selects four bits of data from two sources
under the control of a common select input. / 74xx157 T %\_rﬁl!iﬁ HTHT 9

fAfafy & frimr & siaela g Wil @ IR fae SeTdTaaaT HRaT |
1. 8 to 1 multiplexer / 8 1 QEW
2. dual 4 to 1 multiplexer / %4@ 1 EIEW

3. 32 to 1 multiplexer / 32 1 E@W
4, quad 2-input multiplexer / 1S 2 -ﬁﬁ'@ E@W

Correct Answer :-

 quad 2-input multiplexer / 1S 2 fafafy E@W

45) The frequency of oscillation of UJT relaxation oscillator is , if the time required
to charge up to ramp rise time is ‘t;’ and the time required to discharge from ramp rise time

to minimum value is ‘td’./q\vﬂtﬁﬁmﬁraﬁﬁa%aﬁ'—rﬁmﬁr g afe¥m
SIS dP TARH BT TaRAD GHY t,” & 3R I SR | GAdH HET b
fareei= 31 3maza® 99 «t,” B

1. f= (ts+ td)/ (ts-td)
2. £= (tg+ tg)/(ts-tg)
3. f=totty

4. f=1/(tg+ ty)

Correct Answer :-

o £=1/(tg+ tg)



46) The basic equation of radiation is: / fafezor &1 H\?TWW%
1. I=Qv

2. IL=Qv

3. 1L=Q

4. Iv=QL

Correct Answer :-

o IL=Qv

47) The cut-off frequency for high pass filter is: / 3w TR fheer a?ﬁl'({ 3d® GHQ'RT ®:
1. f.= 1/TIN(LC)

2. f,= 1/4TIN(LC)

3. f,= 1/2IIV(LC)

4. f.= 1/(2T1LC)

Correct Answer :-

. f=1/4TIN(LC)

48) 8051 is bit microcontroller. / 8051 ﬁ?ﬁm %I
1. 16

2.32

3.4

4.8

Correct Answer :-

49) What does rectifier instrument indicate? / ﬁvmﬁ U FT Hbd Hdl %?
1. RMS value / RMS HIH

2. Peak value /WW

3. None of the above /mﬁﬁﬁéﬁ



4. Average value / ST JH

Correct Answer :-

e RMS value / RMS HIH

50) What battery is used in an electric power station? / ﬁg‘q?r!zr%r FEA DA a'gfrm
U féar ST =T e?

1. Aluminum-iron / Q@ﬂﬁﬂ’q—?ﬁg
2. Lead-acid / TIT-37%d

3. Zinc-carbon / W—W

4. Nickel-cadmium / ﬁ%-%&mﬂ

Correct Answer :-

« Lead-acid / TIT-37%d

51) What is the addressing mode of MOV B, @R0 in 8051? / 8051 A MOV B, @RO 4|

s faem w82

1. Direct addressing mode / Y& QS@FT%?JT

2. Immediate addressing mode / Wﬁsﬁm faer

3. External direct addressing mode / dTel Ycd& Q@'ﬁl”'{ faer
4, Indirect addressing mode / Y& ﬂtcﬁm faer

Correct Answer :-

« Indirect addressing mode / 3TUI& QS\ R faer

52) What is the end point of branch called? / WWW%’Q’WW%’
1. Node / 3T

2. Graph / 3R

3. Path /UY

4. Tree / a)f

Correct Answer :-

. Node/\’rl'lﬂﬁf



53) Name that transient which is produced when a circuit, which is originally dead, is energized. /
I SEIRITA g BT ATH FATE, S 99 I BIdT & o9 URuY oY {5 g =u A ga g, 98 Hold
Far gl

1. Complex transient / iy &ffores

2. Subsidence transient / 3{dqci &f0IdH
3. Transition transient / ThHU &rﬁ@
4, Initiation transient / Har?ﬁ &‘m

Correct Answer :-

e Initiation transient / ua?f:r &‘IW

54) Since resistance is independent of frequency, it is represented graphically by a

Ry Igfa A WA glar g, safogssy meﬁw&h%mmm?
1. circle / 9T

2. hyperbola / 3fduRaT

3. parabola / TRAT

4. straight line / et T

Correct Answer :-

« straight line / el ¥

55) Which among the following forms the frame of a DC machine? / fgdd s DC mﬂq%aﬁr
1 fufor sxar g2

1. Pole shoe/thﬁQl
2. Yoke /W
3. Shaft / QUE

4. Commutator / 37_131%??

Correct Answer :-

e Yoke /W

56) Which of the following does not relate to the duality theorem? / ﬁ";'l' ﬁﬁ a”ﬁT'T a?l' uﬁ‘q ﬁ Wﬁﬁ‘l’
e g2

1LLA*A=A
2.A+B=AB

3.A+A=A



4. A+0=A

Correct Answer :-
e« A+B=AB

57) Which of the following statement is TRUE for switch statement? / %ﬂﬁzﬁ%mm

A D AT HYT I 22

1. Tt is mandatory to include at least one case in the switch block. / Y dsad e Uh Y DI
A AT et B

2. It is optional to include a default case. / fehice Y B MU BT dbicld %I

3. There is no restriction on the number of cases that can be included in as switch statement. / Qﬁﬁ 3|

T R B ey 781 8, e &g sy & w0 & 2nfed fbar s g |
4. None of the above /mﬁ@fﬁﬁ

Correct Answer :-

 TItis optional to include a default case. / fehice Y B MU BT dbicld %I

58) Which short circuit is the most dangerous of all short circuits? / ﬁﬂ\‘nﬂg afay mﬂ?rg
ol § gad fte warTS 82

1. Dead / IGLap]

2. Line to line and ground / IS q NIEGE 3R Hﬁf
3. Line to line /Fﬂg:fﬁ?ﬂ%_"f

4. Line to ground / €T3 4 '11[&[

Correct Answer :-

. Dead/ﬁ’@ﬂ’q

59) A phase sequence indicator rotates clockwise for phase sequence of RYB. If the phase sequence is
changed to BRY, it will ./ RYB & UTaRIT 34 & o0 UrawyT SrgehH ddhad
YUIH a1 8 | afe WTawRIT 34 BRY H d¢d fear a8 at ug |

1. not rotate /ﬂ;ﬂﬁqﬁm

2. rotate clockwise / GI&UIad quh HAT

3. rotate clockwise or anticlockwise / GI&OTad T Wﬂ;ﬂﬁm
4. rotate anticlockwise /?ﬂ'ﬂl'la?fqpﬁ ST

Correct Answer :-

« rotate clockwise / <ferorad ‘Q;Uﬁ BT



60) In the transformation ratio, if K of a transformer is less than 1, then the transformer is said to be

a/an 3 ./ TUTaRT guTa #, af aRonfis #1 K & 1 4 $9 8, 99 uRonfiE #t Cd|
SITaT 8|

1. step-down transformer / ST gRonfas

2. step-up transformer / BI_TJTQOT q'l:\"UTIﬁH

3. transformer under no-load / HIR Hé’f% Glﬂﬁ?f gfvonfas
4. auto transformer / g g

Correct Answer :-

o step-down transformer / S gionfis

61) What is the advantage of electric braking? / ﬁ?ﬂﬁ%%ﬂ?ﬂ'ﬂ %'?

1. Motor continues to remain loaded during braking / ECacy C?NH Hf Arex yika gl %
2. It is instantaneous / Y& GICAINED %

3. It avoids wear and tear of truck / dg IR cc-c 3R e I Rl W_CIT%

4. More heat can be generated / 3P HHT ITA 81 bl %

Correct Answer :-

« It avoids wear and tear of truck / T8 @I @1 ge-Te 3T forTa 9 & ol §

62) What is the pressure of steam in a locomotive? / iﬁmﬁwmmw%v
1. 40-50 kg/cm2

2. 80-90 kg/cm?

3. 10-15 kg/em?

4. 20-30 kg/cm?

Correct Answer :-

e 10-15 kg/cm2

63) What is the inverse of impedance also known as? / uﬁmwmw W%, oo I HAH M
ST STl 82

1. Admittance / PR

2. Inductance / b
3. Capacitance / Y 5|



4, Reactance / yfadrd

Correct Answer :-

e Admittance / PR

64) What is the main function of a fuse? / WWWWI’&W%’
1. To open the circuit. /tlﬁ'q?«[ﬁ CINGl]

2. To protect the line. / ¢lIg G gRET Ul hAT

3. To protect the appliance. / SUDPU DI ETHAT

4. To prevent excessive current. / SAfYH YRT BT AT

Correct Answer :-

» To prevent excessive current. / AP URT DI AHT

65) What is the diameter of a conductor proportional to? / WWWWWW
&

1. The cube of skin effect / SURIAR THTG BT G-
2. The square of skin effect / JURR YHTG BT 7
3. The square root of skin effect / SURER UWWW

4. The cube root of skin effect / SURIR THTA BT U7

Correct Answer :-

 The square root of skin effect / JURER U‘J-{THWHTTH?T

66) What is produced when a thermo-junction is heated? / STd AT TR ?I'cﬁ%, GEECVIRR ]

FraTe?

1. Torque / Wﬂ;ﬂf
2. Power / fad

3. Magnetic flux / TEDHIT TG
4. Electromotive force / W dd

Correct Answer :-

« Electromotive force / ﬁw qq

67) What do transformers act as? / uﬁwr&ﬁrm%?wﬁmmﬁ%v
1. Boosters /a%



2. Inductors / RSP
3. Capacitors / TR
4. Resistors / UfeRIY®

Correct Answer :-

e Boosters / gefe

68) What does a digital multimeter consist of? / 3B agwﬂ o 1 af|fera Eﬁ?ﬂ %?
1. An attenuator, a rectifier and a filter / Udh &‘n'UIWm, Th w 3R Th fheex

2. An alternator, an ADC, a display and a recording mechanism / Udh Wﬁ"ﬁ, Udh ADC, Wm 3R
T YT qre=

3. A PLL and a counter / Uch PLL 3%?@ aiE
4. A comparator and a pulse generator / U _glf‘lﬁa 3R U W S

Correct Answer :-

 An alternator, an ADC, a display and a recording mechanism / U Wﬁﬁ, Udh ADC, Wm 3R
T NG T1e

69) What does a high rating slip ring induction motor use? / T 3= yoft o gerg URT Hiex 1
SUGRT H3d1 &2

1. Autotransformer starter / STIRUMHT TRYE
2. Rotor resistance starter / ‘Q;Uf:l UfeRIY URYS
3. DOL starter / DOL URHh

4. Star starter / TR URYHD

Correct Answer :-
« Rotor resistance starter / Tﬁ UfeRIY IRYS

70) What happens to the terminal voltage when an alternator is connected to an infinite bus bar and
its excitation is gradually increased? / T dlees & HTY TT NI, ST TP UATd ol TP 3T
THAR & HIIT g1 o1l 3 SR 39T Suv TR-dR sgar g1

1. The terminal voltage will vary rapidly/ TS aiees doit 9 fird Eﬂ?ﬂ SITET
2. The terminal voltage will remain unaltered / Eﬁ%ﬁ'f m @R B‘T ?%TIT

3. The terminal voltage will rise / Eﬁ-ﬁﬂm ﬁ Q'@ EﬁTﬁ

4. The terminal voltage will drop /mmﬁw \3'ITQ1ﬂ

Correct Answer :-



o The terminal voltage will remain unaltered / efd aees RR BCT Q%‘ I

71) Screwed conduit circuits are used for voltages ./ died & fag Tp 9T
TRuy Tged BIa B

1. less than 250 V / 250 V A HH
2. between 250 V and 600 V / 250 V 3R 600 V & &I
3. above 600 V / 600 vV T AHYH

4. above 100 V /100 V I 31

Correct Answer :-
« between 250 V and 600 V / 250 V 3R 600 V & &g

72) The correct syntax for initialization of a one-dimensional array is ./ & faudita qe &

TRWH S R e e @)
1. num[4] ={1,2,3,4};

2. num[4] =0

3. num[4] ={1 2 3 4};

4. num[4] = {1;2;3;4};

Correct Answer :-

« num[4] ={1,2,3.4};

73) The transient voltage that appears across the circuit breaker at the instant of arc extinction is

known as voltage. / Wﬁ@u%wwuﬁv&ﬁ%%ﬁmw@m
fore giees qieeS & FU A AT AT |

1. arc/ 3Th
2. restriking/ YIdIS
3. transition / TehHU

4. recovery /Y- UTtd

Correct Answer :-

e restriking/ YIXdTSd

74) The process of removing a bug from an algorithm is called / QFI”QW@WE‘TW
S ufpar i FET AT

1. assembler / CARIGEGT



2. compiler / 3{IHYDH

3. linker / $acIh
4. debugging / ayHTSH

Correct Answer :-

« debugging / ayHTSH

75) The area in the transistor is considerably smaller than the collector area. /gﬂ?rl'\‘?? |

@I YUe &7 9 e SeTgar gl
1. emitter/w

2. none of the above/ SWRIGdH A or?léﬁ

3. barrier region / Y &

4. base / 3UR

Correct Answer :-

e emitter / Ioih

76) The average DC load current Iy of a full wave rectifier is give by : / qﬁawﬁ'gmaﬁ 3NTq
DC YR YRT Ipc TR S B

1. None of the above / SWRIGd H A Ob\l'-:f:ﬁsﬁf
2. Ipc = Epc/Ry
3. IDC = Im/TE

4, IDC = ZIm/TC

Correct Answer :-

o Ipc=2l/r

77) A is a part of a network that lies between two junctions. / GITIsh H PT TR

YT & St 3 S & S fRa gar 1
1. loop / UIRI
2. branch / Q[

3. mesh / Sl
4, node / STfey

Correct Answer :-



e branch / RMAT

78) In a Cathode Ray Tube, the source of emission of electrons is: / %zhg%m?%mﬁ, Eﬁﬂﬁ"ﬁ'ﬁ
& IS BTG :

1. PN junction diode / PN I S
2. A barium and strontium oxide coated cathode / Udh CIReE G-ﬁT E’F-‘Eﬂﬂq &ﬂ’aﬂﬁ—s’ KILGI %%h:c:
3. Post-accelerating anodes / URY TS

4. Accelerating anodes / «dxU[ TS

Correct Answer :-

« A barium and strontium oxide coated cathode / U@ STRTH 3R E’Wﬂ'ﬂq HiaTEs aftd Huts

79) In an AC circuit breaker, the arc current ./ AC trﬁ'tmﬁ%za?ﬁ, 3T YRT

1. is in phase with the arc voltage / 3Mh dleesl & JTY YT H a?ﬁ %I
2. lags the arc voltage by 90° / 3T el ¥ 90° UY Bl g |

3. leads the arc voltage by 180° / 3Mh dlecsl I 180° W@?ﬁ%l

4. leads the arc voltage by 90° / 3T dieesl § 90° 317 gldil

Correct Answer :-

e is in phase with the arc voltage / 3T dlecsl o 1Y YTaRIT & B-Fﬁ %I

80) In a synchronous motor, hunting is prevented by using ./ WWW'&I,
& IUANT gRT G DI AT AT THAT 3 |

1. dampers / 3[AHGPH

2. accelerators / <d¥h
3. exciters / RGN
4. oscillators / INE]

Correct Answer :-

« dampers / 3[dHGD

81) To which class of instruments do Tangent galvanometer and Rayleigh’s current balance belong

to? / T3 Y B A} Aot A Tu=icar yrmaTd iR ¥e URT Hqa HaY vEd 82

1. Secondary instruments / fgca® I



2. Absolute instruments / fRuer g
3. Deflection type instruments / fq&gur yeR & I3
4. Null type instruments / [ U G|

Correct Answer :-

e Absolute instruments /ﬁ?ﬁr&r g7

82) A 3¢ converter is used for HVDC transmission system and is operated from 3¢ 25KV supply.
Thyristor each of 1600 V/16 A are available. The forward leakage current difference of the device is
35mA. The string efficiency can be assumed to be 85% and AQ,,,., = 25uC. The number of devices to

be connected in series are: / HVDC WW%WW3¢ WWW@W%&W3¢
25KV SATYfef & TRATIRIT EAT R 1 1600 V/16 A TS & YT SUA & | SUBRT BT 37T YRT
e 3R 35TAT § | FRET Grar Y 85% 3R AQ,,,, = 251C HIFT S Hebarl 2 1 A0R & TAIR

TS IUHRU BT WA B:
1. 16
2.26
3.36

4. 06

Correct Answer :-

83) .DATA
NUMBER DB FFH

.CODE

MOV AL, NUMBER

ADD AL,01H

END

1. AL=10H & CF(Carry flag) = 1 / AL=10H Td CF(h] TeT) = 1
2. AL=10H & CF(Carry flag) = 0 / AL=10H Td CF(&<} Tal¥T) = 0
3. AL=00H & CF(Carry flag) = 0 / AL=00H Td CF(H<1 TelTT) = 0
4. AL=00H & CF(Carry flag) = 1 / AL=00H Td CF(PH~} TalTT) = 1
Correct Answer :-

. AL=00H & CF(Carry flag) = 1 / AL=00H Td CF(S3 TeHT) = |



84) A resistor coloured Yellow-Violet-Orange-Gold would be . | Uiy, foraeT
auf far-Sr-TRf-gae 8, Gl

1. 47 Q with a tolerance of +/- 10% / +/- 10% HTGS[dl o Y 47
2. 47 Q with a tolerance of +/~ 5% / +/- 5% TGV & T 47 O
3. 4.7 Q with a tolerance of +/- 10% / +/- 10% H%WT%WQI 4.7

4. 47 KQ with a tolerance of +/- 5% / +/- 5% TgWdl b I 47 KO

Correct Answer :-

o 47 KQ with a tolerance of +/- 5% / +/- 5% H%W\FIT%W?J 47 KQ

85) The Zener resistance of a Zener diode, which exhibits 50mV change in V, for a 2.5mA
change in I, is . / SR SIS &1 =R UfeRiY, S I, # 2.5mA uf¥as & fee v, o
50mV UfRad= yefkia #var g, gl

1. 40Q
2.20Q
3.5Q

4. 10Q

Correct Answer :-

e 20Q

86) The term refers to measure the ability of a measurement system to
give the same value for repeated measurements of the same value of a variable. /

UG HIY YUITell &1 U &HdI, HIY &l Gefifd PRl g PR RS qaH a1 &
Y-RIg |19 & e 9w | fou smg |

1. reliability / fag=aar

2. repeatability/ TARTIC AT
3. stability / RITRAG

4. sensitivity / ﬁ&ﬂ'ﬂT%ﬂT

Correct Answer :-

* repeatability/ Wﬁw

87) The output of XOR AL, AL is / XOR AL, AL &T 3{I3cYc ?

1. (88)H



2. (1DH
3. (FF)H
4. (00)H

Correct Answer :-
« (00)H

88) To maintain a good power factor in a single-phase commutator, the two ratios f/f
and T¢/T, must be kept . | THa-uaRyT fguad® # te 3 i $RP HI §91¢
@A & forg, St SrguTal £/, MR T/ T, B @1 ST 91eg |

1. high / 3=

2. at 1 always /ﬂéa 1R

3. constant always / ﬂ%a RR
4. small / <Y

Correct Answer :-

e small /¢TY

89) For the 3¢ full converter having resistive load, the ripple frequency f \jppje is ./

feRiy R a1t 3¢ i uRade F e emafaforfe_ 81
1. 300Hz
2. 350Hz
3. 250Hz

4. 150Hz

Correct Answer :-
e« 300Hz

90) Give the safety factor used for current ratings in a power installation. / a1 TRITIH
# YT goft FrefRon & forg ugea [Ran RS S|

1. 1.5
2.0.5
3.2

4.1

Correct Answer :-



91) Magnetic measurements use ballistic tests to determine

o1 Ruifa w31 & e gty ara mafte gderor 1 Iuahn #:a 21
1. hysteresis loop of the specimen only / Fad ufaest o1 ey faurer

2. B-H curve of the specimen only / &ad ufdeel &1 B-H IH

3. flux density, magnetizing force and B-H curve and hysteresis loop of the specimen / gfaesl &1 Ydlg

T, TEDI 99 AR §1-TF I U9 A q
4. iron losses in the specimen / Qﬁ@fﬁ T“ﬁ_s'ETﬁ

Correct Answer :-

« flux density, magnetizing force and B-H curve and hysteresis loop of the specimen / gfesl &1 Udg

Y, FED T I 3R §1-T3 b T A U

92) The thyristors which have turn-off time less than are called inverter grade

thyristors. / YRR PG et fp TG ﬁaﬂlﬁ?ﬂ% Sidade® Aol UrgRez
FEAd 3|

1. 15us

2. 45us

3. 25us

4. 35ps

Correct Answer :-

93) For safety purposes, resistance of earthing electrode ./ qRE&n mﬁmﬁ%ﬁm

WUGAgARISHIURIY |

1. can be anything, because the value of resistance of earth electrode does not affect safety / P& lﬁﬁ

el g, i YW Saideis & UfaRIY &7 A YRET HI THIfAd 78! Bl 8
2. must be low / 5 g1 T1RT
3. must be medium / T BT AT
4. must be high/ 3 B AT6Y

Correct Answer :-

e must be low/ﬁgmaﬁq




A single phase bridge inverter having square wave output has the DC supply of 48V and output resistance
of 4.8Q. The rms value of outputis____ . / T AT SIS T Toh Tohd UTARIT A fcRad® Bl DC
3myfef 48 v 8 3R 4.8Q &1 At ufaier 31 TS &1 rms A 2|

1.38
2. 46
3.36

4. 48

Correct Answer :-
e 48

95) Any equation that represents the relation among pressure, volume and temperature is said to be an

equation of /ﬁ's‘wﬂmwvﬁaﬁ,amaﬁ?amm%aﬁawuﬁﬁ?ﬁam%@
_ praHierRuSgIwE el

1. atom / UIHIT]
2. element / dd
3. mixtures /ﬁ[%IUT

4, state / AT

Correct Answer :-

e state / ARY[

96) The minimum number of NAND gates required to reduce the expression ((A + B)C) D

is : / AT ((A + B)C) D ®I HH H1 & AT AMaRdH NAND e Ft AdH WS &:
1.6
2.5
3.8

4.4

Correct Answer :-

e 6
97) The operation in PLC means that the output is ON, if at least one of the inputs
is ON; its analogous to relay contacts connected in parallel. / PLC H T &1 3

 fop forfd on 8, afe o9 3 o9 e Ay oN 8, 98 TR # 92 Sue! o) ufaarid
P S AU

1. XOR



2. AND
3. XNOR

4. OR

Correct Answer :-
« OR
98) CANCELLED

A system executes a cyclic process during which there are four heat transfers of 1000, 90,
700 and 250 J and four work interactions of 100, 50, 200 and W4 J. Find the magnitude
and direction of the fourth work interaction, Wy. / &% WUITd! U@ I 1g Ufshar fAwarfed s
8, fS9% SR 1000, 90, 700 3R 250 J & IR HWHT WG 81 & 3R 100, 50, 200 3T W4 J
P! TR Frd 3= fopane gt €1 wgd ot sra=afsran, w, & afvaror o fexm &1 wira s

1.290 1 / S
2.-3201 /5
3.3201 /9
4.-290 1 / S

Correct Answer :-

. 2907 /9

99) CANCELLED

Depending on the counter, there are up to modes available on high speed counters. / IO U

kg samRmwesiw | 6 a9 Sudsy 8 99a &l
1. 16
2. 10
3. 14

4. 12

Correct Answer :-

100) CANCELLED

An integer is chosen from 2 to 15. What is the probability that we may get a total of 9? / 2 g

%5 IP | TP YuUiTep ST I9- fooar oIrar 8 | 71 wilderdn 2 fob g9 o o) oot T frer ot



1.3/7

2. 1/7

3. 1/9

4.2/7

Correct Answer :-

. 3/7



